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Lecture Chapter 9 Math 15 Statistics jones Name

Use the traditional method tfo fest the given hypothesis. Assume that the samples
are independent and that they have been randomly selected
1) A marketing survey involves product recognition in New York and
California. Of 558 New Yorkers surveyed, 193 knew the product while 196
out of 614 Californians knew the product. At the 0.01 significance level, test
the claim that the recognition rates are the same in both states.

a) (5 Points) State the null and alternate hypt}fheszs. Graph and shade the

cmzca}; regmn. Find t%ze critical value.
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b) (5 Points) Find the point estimate for the d1fference between the sample
proportions and the test statistic for this dszerence Label this on your graph.
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c) (5 pcmts) Find the p-value, draw a new graph and label this area. Explain

the meamng of this p~value. Alg“& ip= 583
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d) (5 Pomis)&ﬁeaﬂy state your final conclusion in language addressing the

original claim.
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Construct the indicated confidence interval for the difference between population
proportions pi1 - p2.
Requirements: Assume that the samples are independent and that they have been
randomly selected.
2) A marketing survey involves product recognition in New York and

California. Of 558 New Yorkers surveyed, 193 knew the product while 196 9l

out of 614 Californians knew the product. Construct a 99% confidence

interval for the difference between the two population proportions.

a) (2 Points) What point estimate of the diff erence % the poguiahoﬁ

"m

5 g
proportions, PL-P2, does this survey give? ‘*g;; . = 1@ =
- | ﬁégjfzf
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c) (5 Points) Find the confidence interval.; ™~ v
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e) (5 Points) Interpret the meaning of this conﬁdence mterval g
412 S’” <P 259 | NYers relogni®es Lo pf
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3) When making decisions about a population means or proportions, either a

hypothesis test or a confidence interval can be used. Compare these

techmques. . ‘h = 4
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